We recommend you to try the PREMIUM CTFL-Foundation Dumps From Exambible
exam blbk—.‘ https://www.exambible.com/CTFL-Foundation-exam/ (338 Q&AS)

@ exambible

ISTOB

Exam Questions CTFL-Foundation

Certified Tester Foundation Level

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM CTFL-Foundation Dumps From Exambible
exam blb|@ https://www.exambible.com/CTFL-Foundation-exam/ (338 Q&AS)

NEW QUESTION 1
You are about to release a test progress report to a senior manager, who is not a test specialist. Which of the following topics should NOT be included in the test
progress report? 1 credit

A. Product risks which have been mitigated and those which are outstanding.

B. Recommendations for taking controlling actions

C. Status compared against the started exit criteria

D. Detailed overview of the risk-based test approach being used to ensure the exit criteria to be achieved

Answer: D

NEW QUESTION 2
Which of the following is an example of testing as part of the requirements specification phase? 1 credit

A. A requirements review meeting

B. A business analyst eliciting requirements

C. Performing acceptance tests against requirements
D. A test report showing requirements coverage

Answer: A

NEW QUESTION 3
IEEE 1028 also defines “management review” as a type of review. What is the main purpose of a management review? 1 credit

A. Align technical concepts during the design phase

B. Establish a common understanding of requirements

C. Provide independent evaluation of compliance to processes, regulations, standards etc.

D. To monitor progress, assess the status of a project, and make decisions about future actions

Answer: D

NEW QUESTION 4
Select THREE issues from the options provided that should at least be raised. 1 credit

A. Has there been sufficient comparison of tools?

B. What are the problems we are trying to address?

C. Do we have a set of tool requirements to validate the tool against?
D. How will the implementation be organized?

E. Which project will be selected to perform the tool pilot?

F. Is customized training available?

G. How will the change process be managed?

Answer: ABC

NEW QUESTION 5
Which of the following would be the TWO most appropriate examples of entry criteria documented in the system integration test plan? 2 credits

A. The percentage of decision coverage achieved during unit testing.

B. The availability of the latest version of the capture-replay tool (for testing the interface with the newly developed test management tool).

C. The sign-off of a performance test software release note (test item transmittal report) by both development and testing showing that system performance meets
the specified acceptance criteria.

D. The percentage of acceptance test procedures scheduled for execution.

E. The percentage of requirements coverage achieved during system integration tes

Answer: AB

NEW QUESTION 6
Which of the following would be the most significant input to estimating the time to carry out the specified testing tasks? 3 credits

A. The skills and experience of developers to correct the failures.
B. The standards used for the requirements specification.

C. The metrics recorded from testing the capture-replay tool.

D. The number of testers in the company and their grad

Answer: C

NEW QUESTION 7
Which of the following are valid reasons for adopting a different life cycle (from the V model), for increments after the first year? 2 credits

A. We do not have a clear understanding of the requirements from a customer perspective.i

B. We see the risk of delivering requested functionality late as being higher than the risk of delivering a lower quality product.ii

C. We do not have a budget for additional regression testing which is needed to ensure that existing functionality is not compromised by future iterations.i
D. The company test strategy does not fit well within the V life cycle model.

E. (i) and (ii)

F. (i) and (iv)
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G. (ii) and (iii)
H. (i) and (iv)

Answer: A

NEW QUESTION 8
Which of the following is a project risk mitigation step you might take as test manager? 1 credit

A. Testing for performance problems

B. Hiring a contractor after a test analyst leaves the company

C. Arranging a back-up test environment in case the existing one fails during testing

D. Performing a project retrospective meeting using the test results after each increment

Answer: C

NEW QUESTION 9
Risks should be constantly reviewed. Given the current situation, which one of the following factors is most likely to lead to a revised view of product risk? 3 credits

A. The concerns over the user interface may lead to changes to the interface which cannot be implemented by development in time for the second test iteration.
B. The concerns over the user interface raises the likelihood of a risk in that area and increases the amount of test effort needed for the user interface, thereby
limiting the test effort available for other parts of the test management tool.

C. The delivery of the application without the interface changes may upset the user community.

D. The method used for test estimation is not accurate enough and hence the money spent on testing exceeded its budge

Answer: B

NEW QUESTION 10

You have been asked to write a testing strategy for the company. Which statement best explains how risk can be addressed within the testing strategy? 1 credit
A. A test strategy should address identified generic product risks and present a process for mitigating those risks in line with the testing policy.

B. A test strategy identifies the specific product for a project risk and defines the approach for the test project.

C. A test strategy is derived from the test policy and describes the way risk assessments are performed in projects.

D. A test strategy is the result of a project risk analysis and defines the approach and resources for testin

Answer: A

NEW QUESTION 10

What is the Risk Priority Number for risk item number 2? 2 credits

6
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Answer: D

NEW QUESTION 15
Which of the following is a benefit of independent testing? 1 credit

A. Code cannot be released into production until independent testing is complete.
B. Testing is isolated from development.

C. Independent testers find different defects and are unbiased.

D. Developers do not have to take as much responsibility for qualit

Answer: C

NEW QUESTION 17

Which of the following is a valid drawback of independent testing? 1 credit

A. Developer and independent testing will overlap and waste resources.

B. Developers loose the sense of responsibility and independent testers may become a bottleneck.
C. Independent testers need extra education and always cost more.

D. Independent testers will become a bottleneck and introduce problems in incident managemen
Answer: B

NEW QUESTION 22

Based on the information given in the scenario, identify how the team could be improved most effectively? 2 credits
A. By providing training in the payroll domain

B. By providing a workshop on test design techniques

C. By providing specific training on the systems being tested

D. By providing training on reviewing requirements

Answer: B
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NEW QUESTION 25
Evaluate the status of the project against the defined exit criteria. Which of the following options shows the correct status? 2 credits

A. Criteria A = OK, criteria B = OK, criteria C = OK

B. Criteria A = NOT OK, criteria B = NOT OK, criteria C = OK

C. Criteria A = OK, criteria B = NOT OK, criteria C = NOT OK

D. Criteria A = NOT OK, criteria B = NOT OK, criteria C = NOT OK

Answer: B

NEW QUESTION 29
Instead of having an independent test team within the company, the company is considering to outsource testing. What are THREE key challenges that are typical
for outsourcing? 1 credit

A. Test environment more complex

B. Define expectation for tasks and deliverables
C. Clear channels of communications

D. Possibly different cultures

E. Testing of non-functional requirements

F. Audit trail from requirements to test cases

G. Applying test automation

Answer: BCD

NEW QUESTION 34

A test assessment has been carried out using the selected model as a reference framework. A number of recommendations have been identified and you are
asked to prioritize them. Based on your knowledge of the project, you are expecting severe resistance to change. Which of the following would be the most
important selection criterion for defining the priority of the recommendations? 2 credits

A. Synchronized with the overall long-term organizational strategy
B. Defined according to the maturity model used

C. Most visible to stakeholders

D. Low costs actions first

Answer: C

NEW QUESTION 39
The test improvement project will take place in an organization developing a safety-critical avionics application. Which one of the following standards do you
believe would be most appropriate to take into account for compliance during your assignment? 1 credit

A.1SO 9126
B. IEEE 829
C. BS 7925/2
D. DO-178B

Answer: D

NEW QUESTION 41
The business has asked for a weekly progress report. Which of the following would be appropriate as a measure of test coverage? 2 credits

A. Percentage of business requirements exercised
B. Percentage of planned hours worked this week
C. Percentage of countries that have test scenarios
D. Percentage of test iterations completed

Answer: A

NEW QUESTION 46
Continuing with the Scenario described in the previous question, which of the following topics would you need to address in detail in the master test plan? 3 credits

A. An approach to regression testing

B. A list of boundary values for “advance amount”

C. A description of dependencies between test cases
D. A logical collection of test cases

Answer: A

NEW QUESTION 47
Relying only on the information provided in the scenario, select the TWO items and/or features for which sufficient information is available to proceed with test
design. 2 credits

A. All supported credit cards
B. Language localization

C. Valid and invalid advances
D. Usability

E. Response time
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Answer: AC

NEW QUESTION 52

Which of the following could be a reason for a failure?
1) Testing fault

2) Software fault

3) Design fault

4) Environment Fault

5) Documentation Fault

A. 2isavalidreason; 1, 3, 4 & 5 are not
B. 1, 2, 3, 4 are valid reasons; 5 is not

C. 1, 2, 3 are valid reasons; 4 & 5 are not
D. All of them are valid reasons for failure

Answer: A

NEW QUESTION 53
Which of the following statements describes a key principle of software testing?

A. Automated tests allow better statements of confidence about the quality of software products.
B. For a software system, it is normally impossible to test all the input and output combinations.
C. Exhaustive software testing is, with enough effort and tool support, feasible for all software.
D. The purpose of software testing is demonstrating the absence of defects in software product

Answer: B

NEW QUESTION 58
Security falls under..?

A. compliance testing

B. disaster testing

C. verifying compliance to rules
D. functional testing

E. ease of operations

Answer: A

NEW QUESTION 63

A system is designed to accept values of examination marks as follows: Fail: 0—39 inclusive Pass: 40-59 inclusive Merit: 60—79 inclusive
Distinction: 80—100 inclusive

In which of the following sets of values are all values in different equivalence partitions?

5, 40, 60, 75
, 45,79, 87
40, 59, 69

2
0
3
25, 39, 60, 81

A.
B.
C. 35,
D. 25,
Answer: B

NEW QUESTION 66
Which of the following is most likely to be a benefit of using static techniques?

A. Fewer performance defects.

B. Productivity improvements in the development process.
C. More efficient regression testing.

D. Quick return on investment in static analysis tools.

Answer: B

Explanation:

Although the other options might be seen as benefits they are not amongst the most likely benefits. Option (B) is the benefit that is most likely to be realized.
NEW QUESTION 68

A deviation from the specified or expected behavior that is visible to end-users is called:

A. an error

B. a fault

C. afailure

D. a defect

Answer: C

NEW QUESTION 73
What is the concept of introducing a small change to the program and having theeffects of that change show up in some test..?
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A. Introducing mutations
B. Performance testing
C. A mutation error

D. Debugging a program

Answer: A

NEW QUESTION 74
Which of the following defects is most likely to be found by a test harness?

A. Variance from programming standards.
B. A defect in middleware.

C. Memory leaks.

D. Regression defects.

Answer: B

Explanation:

Variance from programming standards defects (option (A)) are found during the review or static testing process.

Therefore a test harness is unlikely to find a defect in programming standards.

Memory leak defects (option (C)) could potentially be found by a test harness designed to run many test cases. Regression defects (option (D)) could be found
using many types of test tool.

Defects in middleware (option (B)) are generally more likely to be found by a test harness or a dynamic analysis tool than by any other type of tool.

NEW QUESTION 79

Which of the following are most characteristic of structure-based testing?

(i) Information about how the software is constructed is used to derive test cases.

(ii) Statement coverage and/or decision coverage can be measured for existing test cases.
(iii) The knowledge and experience of people are used to derive test cases.

(iv) Test cases are derived from a model or specification of the system.

A. (i) and (ii)
B. (ii) and (i)
C. (ii) and (iv)
D. (i) and (iii)

Answer: A

NEW QUESTION 80
Which is not a major task of test implementation and execution?

A. Develop and prioritizing test cases, creating test data, writing test procedures and optionally, preparing test harness and writing automated test scripts.
B. Logging the outcome of test execution and recording the identities and versions of the software under test, test tools and testware.

C. Checking test logs against the exit criteria specified in test planning.

D. Verifying that the test environment has been set up correctl

Answer: C

NEW QUESTION 83
The difference between re-testing and regression testing is:

A. Re-testing is running a test again; regression testing looks for unexpected side effects

B. Re-testing looks for unexpected side effects; regression testing is repeating those tests
C. Re-testing is done after faults are fixed; regression testing is done earlier

D. Re-testing uses different environments, regression testing uses the same environment
E. Re-testing is done by developers, regression testing is done by independent testers

Answer: A

NEW QUESTION 87
For which of the following activities in the fundamental test process would an incident management tool be most useful?

A. Test planning and control

B. Test analysis and design

C. Test implementation and execution
D. Evaluating exit criteria and reporting

Answer: C

Explanation:

Incident management tools are most useful during test implementation and execution as this is the stage at which the tool is used to raise, manage, retest and
close incidents.

The data collected during the defect life cycle can then be manipulated into information that is useful for other activities within the fundamental test process.
Information on numbers of defects outstanding may be useful for evaluating exit criteria (option (D)). This information could also be used for planning future testing
and for taking control (option (A)).

Incident management tools can also assist in test analysis and design (option (B)) as information about defects found when testing the previous release of the
system could be used when analyzing the type of testing required for the next enhancement.

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM CTFL-Foundation Dumps From Exambible

@ exam blb|@ https://www.exambible.com/CTFL-Foundation-exam/ (338 Q&AS)

NEW QUESTION 89
What if the project isn't big enough to justify extensive testing..?

A. Use risk based analysis to find out which areas need to be tested
B. Use automation tool for testing

C.Bothaandb

D. None of the above

Answer: A

NEW QUESTION 90

A software component has the code shown below: Program BiggestA,
Biggest: Integer Begin

Read A Biggest = 10 While A > 0 Do

If A > Biggest Then Biggest = A Endif

Read A Enddo End

The component has exit criteria for component testing that include 100% statement coverage. Which of the following test cases will satisfy this criterion?

NEW QUESTION 95
What is the purpose of exit criteria?

A. To identify how many tests to design.

B. To identify when to start testing.

C. To identify when to stop testing.

D. To identify who will carry out the test executio

Answer: C

NEW QUESTION 96
Incorrect form of Logic coverage is:

A. Statement Coverage
B. Pole Coverage
C. Condition Coverage
D. Path Coverage

Answer: B

NEW QUESTION 97
Which of the following is the task of a Tester?

A. Interaction with the Test Tool Vendor to identify best ways to leverage test tool on the project.i
B. Prepare and acquire Test Dataii

C. Implement Tests on all test levels, execute and log the tests.i

D. Create the Test Specifications

E. i, ii, iii is true and iv is false
F. ii, iii, iv is true and i is false
G. iis true and ii, iii, iv are false

H. iii and iv is correct and i and ii are Incorrect
Answer: B

NEW QUESTION 101

Which of these are objectives for software testing?

A. Determine the productivity of programmers

B. Eliminate the need for future program maintenance
C. Eliminate every error prior to release

D. Uncover software errors

Answer: D

NEW QUESTION 105

Which of the following is most likely to be performed by developers?
A. Technical review of a functional specification.

B. Walkthrough of a requirements document.

C. Informal review of a program specification.

D. Static analysis of a software mode

Answer:
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D

Explanation:
Static analysis is done almost exclusively by developers. The other review types would be performed using a combination of developers, testers and other
interested stakeholders.

NEW QUESTION 109
The selection of test cases for regression testing..?

A. Requires knowledge on the bug fixes and how it affect the system
B. Includes the area of frequent defects

C. Includes the area which has undergone many/recent code changes
D. All of the above

Answer: D

NEW QUESTION 113
What if the project isn't big enough to justify extensive testing..?

A. Use automation tool for testing

B. Use risk based analysis to find out which areas need to be tested
C.Bothaandb

D. None of the above

Answer: B

NEW QUESTION 116
Who is responsible for conducting test readiness review..?

A. Project Manager
B. Test Engineer

C. Test Manager

D. None of the above

Answer: C

NEW QUESTION 117
Which of the following is not true of regression testing?

A. It can be carried out at each stage of the life cycle.

B. It serves to demonstrate that the changed software works as intended.

C. It serves to demonstrate that software has not been unintentionally changed.
D. It is often automated.

Answer: B

Explanation:
This is a definition of confirmation testing. The other three options are true of regression testing.

NEW QUESTION 118

Which of the following statements are true?

(i) For every development activity there is a corresponding testing activity.

(ii) Each test level has the same test objectives.

(iii) The analysis and design of tests for a given test level should begin after the corresponding development activity. (iv)Testers should be involved in reviewing
documents as soon as drafts are available in the development life cycle.

A. (i) and (ii)
B. (iii) and (iv)
C. (ii) and (jii)
D. (i) and (iv)

Answer: D

Explanation:
Option (ii) is incorrect: each test level has a different objective.
Option (iii) is also incorrect: test analysis and design should start once the documentation has been completed.

NEW QUESTION 120
Which of the following are the typical defects found by static analysis tools?

A. Variables that are never used.

B. Security vulnerabilities.

C. Poor performance.

D. Unreachable code.

E. Business processes not followed.

F. b, c and d are true; a and e are false
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G. ais true; b, ¢, d and e are false
H. ¢, d and e are true; a and b are false
I.a, b and d are true; c and e are false

Answer: D

NEW QUESTION 121
Which of the following is NOT part of configuration management..?

A. Status accounting of configuration items

B. Auditing conformance to ISO9001

C. Identification of test versions

D. Record of changes to documentation over time
E. Controlled library access

Answer: B

NEW QUESTION 126
For which of the following would maintenance testing be used?

A. Correction of defects during the development phase.

B. Planned enhancements to an existing operational system.

C. Complaints about system quality during user acceptance testing.
D. Integrating functions during the development of a new syste

Answer: B

NEW QUESTION 130
Which is not in sequence in 11 Step Software Testing process..?

A. Assess development plan and status
B. Develop the test plan

C. Test software design

D. Test software requirement

Answer: C

NEW QUESTION 133
One of the roles in a review is that of moderator, which of the following best describes this role?

A. Plans the review, runs the review meeting and ensures that follow-up activities are completed.

B. Allocates time in the plan, decides which reviews will take place and that the benefits are delivered.

C. Writes the document to be reviewed, agrees that the document can be reviewed, and updates the document with any changes.
D. Documents all issues raised in the review meeting, records problems and open point

Answer: A

NEW QUESTION 136

Which of the following is true of iterative development?

A. It uses fully defined specifications from the start.

B. It involves the users in the testing throughout.

C. Changes to the system do not need to be formally recorded.

D. It is not suitable for developing website

Answer: B

NEW QUESTION 138

When is testing complete?

A. When time and budget are exhausted.

B. When there is enough information for sponsors to make an informed decision about release.
C. When there are no remaining high priority defects outstanding.

D. When every data combination has been exercised successfully.

Answer: B

Explanation:

Sometimes time/money does signify the end of testing, but it is really complete when everything that was set out in advance has been achieved.
NEW QUESTION 141

Which of the following is not a type of incremental testing approach?

A. Top down
B. Big-bang
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C. Bottom up
D. Functional incrementatio

Answer: B

NEW QUESTION 146
A bug or defect is:

A. A mistake made by a person;

B. A run-time problem experienced by a user;

C. The result of an error or mistake;

D. The result of a failure, which may lead to an error?

Answer: C

NEW QUESTION 150
Pick the best definition of quality:

A. Quality is job one

B. Zero defects

C. Conformance to requirements
D. Work as designed

Answer: C

NEW QUESTION 153
Which is not the fundamental test process?

A. Planning and control
B. Test closure activities
C. Analysis and design
D. None

Answer: D

NEW QUESTION 157

One Key reason why developers have difficulty testing their own work is:
A. Lack of technical documentation

B. Lack of test tools on the market for developers

C. Lack of training

D. Lack of Obijectivity

Answer: C

NEW QUESTION 161

Complete statement and branch coverage means..?

A. That you have tested every statement in the program

B. That you have tested every statement and every branch in the program
C. That you have tested every IF statement in the program

D. That you have tested every combination of values of IF statements in the program

Answer: B

NEW QUESTION 166

When a defect is detected and fixed then the software should be retested to confirm that the original defect has been successfully removed. This is called:

A. Regression testing
B. Maintenance testing
C. Confirmation testing
D. None of the above

Answer: C

NEW QUESTION 170

What do static analysis tools analyze?
A. Design

B. Test cases

C. Requirements

D. Program code

Answer: D
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NEW QUESTION 172
The purpose of requirement phase is:

A. To freeze requirements

B. To understand user needs

C. To define the scope of testing
D. All of the above

Answer: D

NEW QUESTION 175
Incidents would not be raised against

A. Requirements

B. Documentation

C. Test cases

D. Improvements suggested by users

Answer: D

NEW QUESTION 176
To test a function, the programmer has to write a , which calls the function to be tested and passes it test data:

A. Stub

B. Driver

C. Proxy

D. None of the above

Answer: B

NEW QUESTION 177
Which of the following statements about risks is most accurate?

A. Project risks rarely affect product risk.
B. Product risks rarely affect project risk.
C. Arisk-based approach is more likely to be used to mitigate product rather than project risks.
D. A risk-based approach is more likely to be used to mitigate project rather than product risks.

Answer: C

Explanation:

In general, project risk and product risk can be hard to differentiate. Anything that impacts on the quality of the delivered system is likely to lead to delays or
increased costs as the problem is tackled. Anything causing delays to the project is likely to threaten the delivered system's quality. The risk-based approach is an
approach to managing product risk through testing, so it impacts most directly on product risk.

NEW QUESTION 181
What is a test condition?

A. A statement of test objectives and test ideas on how to test.

B. An item or event that could be verified by one or more test cases.

C. The process of identifying differences between the actual results and the expected results for a test.
D. All documents from which the requirements of a component or system can be inferre

Answer: B

NEW QUESTION 184

Which of the following is a valid reason for writing test cases based on experience and intuition? [K1]
A. Use of formal techniques requires expensive training

B. Only experience can ensure all functionality is covered

C. Tests based on experience and intuition can supplement formal techniques
D. Formal techniques require the use of expensive tools

Answer: C

NEW QUESTION 189

Which of the following are 'Exit Criteria?'

A. Acceptance criteria, completion criteria, pass/fail criteria.

B. Coverage of code, schedule, estimates of defect density.

C. The last executable statement within a component.

D. Cost overrun

Answer: B
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NEW QUESTION 194
Which of the following test case design techniques is white box (structure-based)? [K1]

A. Use case testing

B. State transition testing
C. Decision testing

D. Equivalence partitioning

Answer: C

NEW QUESTION 197
Which of the following correctly states a limitation in the use of static analysis tools? [K1]

A. Static analysis tools can be applied to new code but cannot be applied to existing code

B. Static analysis tools can be used to enforce coding standards

C. Static analysis tools always generate large numbers of warning messages when applied to new code, even if the code meets coding standards
D. Static analysis tools do not generate warning messages when applied to existing code

Answer: B

NEW QUESTION 202

A system calculates the amount of customs duty to be paid:

_ No duty is paid on goods value up to, and including, $2,000. _ The next $8,000 is taxed at 10%.

_ The next $20,000 after that is taxed at 12%.

__Any further amount after that is taxed at 17%.

To the nearest $, which of these groups of numbers fall into three DIFFERENT equivalence classes?

A. $20,000 $20,001 $30,001
B. $2,000 $2,001 $10,000
C. $2,000 $8,000 $20,000
D. $1,500 $2,000 $10,000

Answer: C

NEW QUESTION 206
System testing is:

A. Used to search for defects in software modules that are separately testable.

B. The responsibility of the users of a system.

C. Concerned with the behavior of a whole system/product as defined by the scope of a development project.
D. Triggered by modifications, migration or retirement of the software syste

Answer: C

NEW QUESTION 208
Which of the following is a white box testing design characteristic?

A. To be based on specifications

B. To be based on an analysis of the test basis documentation

C. To be based on an analysis of the structure of the component or system
D. To include both functional and non-functional testing

Answer: C

NEW QUESTION 212
Which of the following metrics could be used to monitor progress along with test preparation and execution? [K1]

A. The total number of tests planned

B. The total number of requirements to be tested

C. The failure rate in testing already completed

D. The number of testers used for test execution so far

Answer: C

NEW QUESTION 213
Test objectives for systems testing of a safety critical system include completion of all outstanding defect correction. Regression testing is required following defect
correction at all test levels. Which TWO of the following metrics would be MOST suitable for determining whether the test objective has been met? [K2]

A. Regression tests run and passed in systems testing
B. Incidents closed in systems testing

C. Planned tests run and passed in system testing

D. Planned tests run and passed at all levels of testing
E. Incidents raised and closed at all levels of testing
F.aande

G.bandc

H.dand e

l.aand b
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Answer: A

NEW QUESTION 215

What factors should be considered to determine whether enough testing has been performed? (i)The exit criteria. (ii))The budget.
(iiffHow big the test team is. (iv)The product's risk profile. (v)How good the testing tools are.

(vi)Sufficient details of the system status to allow decisions

A.iandii and iv and vi
B. i and ii and iii and vi
C.iiand iiiand ivand v
D.iandii and v and vi

Answer: A

NEW QUESTION 218
Which of the following statements is most true about test conditions?

A. An item or event of a component or system that can be verified by one or more test cases.

B. The grouping of a composite set of test cases which, when tested as a whole, reveal a positive or negative result.
C. A testable component derived from business requirements.

D. Applies to software testing onl

Answer: A

NEW QUESTION 221
Component testing may include:

A. Sociability testing.

B. User acceptance testing.

C. Beta testing.

D. The use of stubs and driver

Answer: D

NEW QUESTION 223
What can testing demonstrate?

A. Testing can demonstrate that there are no defects

B. Testing can demonstrate that there are defects

C. Testing can demonstrate that the software is correct

D. Testing can demonstrate that there are no hidden defects in the software

Answer: B

NEW QUESTION 227
When should testers be involved in reviewing a UAT specification? [K1]

A. At the beginning of the project

B. As soon as requirements have been approved

C. As soon as the UAT specification has been drafted
D. At any time before UAT begins

Answer: C

NEW QUESTION 230

Which type of review has the following main purposes:

discussing, making decisions, evaluating alternatives, finding defects, solving technical problems and checking conformance to specifications, plans, regulations,
and standards?

A. Technical Review
B. Inspection

C. Walkthrough

D. Informal review

Answer: A

NEW QUESTION 234

What are metrics NOT used for?

A. To identify the percentage of work done in test environment preparation.
B. To identify the percentage of work done in test case preparation.

C. To apply to the RAD development model.

D. To measure whether dates of test milestones were me

Answer: C
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NEW QUESTION 239
Which of the following test organizations has the highest level of independence?

A. Independent testers within the development teams

B. Independent testers from the user community

C. Independent test specialists for specific test types, such as usability, performance or certification test specialists
D. Code tested by another developer from the development team

Answer: C

NEW QUESTION 243

Consider the following pseudo code:

. Begin

.Input X, Y

JdfX>Y

. Print (X, ‘is greater than’, Y)

. Else

. Print (Y, is greater than or equal to’, X)
. EndIf

. End

What is the minimum number of test cases required to guarantee both 100% statement coverage and 100% decision coverage?

O~NOOTh~WDNE

A. Statement coverage = 3, Decision coverage = 3
B. Statement coverage = 2, Decision coverage = 2
C. Statement coverage = 1, Decision coverage = 2
D. Statement coverage = 2, Decision coverage = 1

Answer: B

NEW QUESTION 244
It is recommended to perform exhaustive tests for covering all combinations of inputs and preconditions.

A. Yes, it's strongly recommended.

B. No, risk analysis and priorities should be used to focus testing efforts
C. Yes, and it’s also necessary to include all the exit combinations

D. Only the expert testers can make exhaustive test

Answer: B

NEW QUESTION 248
Which option BEST describes how the level of risk is determined?

A. The likelihood of an adverse event happening multiplied by the cost of preventing it

B. The consequences of a potential problem multiplied by the cost of possible legal action
C. The impact of an adverse event multiplied by the likelihood of that event occurring

D. The likelihood and the probability of a hazard occurring

Answer: B

NEW QUESTION 253
A system is being enhanced to simplify screen navigation for users. Which of the following does NOT reflect structural testing?

A. To test all paths that users could take through the screen menu system

B. To ensure that 100% decision testing is achieved for each system component
C. To test all branches of component calls within the application call graph

D. To ensure that users can navigate to all fields on the screen

Answer: C

NEW QUESTION 257
Which of the following is NOT a valid objective of testing?

A. Preventing defects from being introduced into the code
B. Investigating and fixing defects in the software under test
C. Gaining confidence that the system is fit-for-purpose

D. Providing information for stakeholders’ decision making

Answer: D

NEW QUESTION 259

During which stage of the fundamental test process is the testability of requirements evaluated?
A. Test Implementation and Execution

B. Test Planning and Control

C. Evaluating Exit Criteria and Reporting
D. Test Analysis and Design
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Answer: D

NEW QUESTION 264
Your company is developing a system with complex business rules and many branches in the structure of its code components. You need to choose one black box
technigue and one white box technique for test case design. Which one of the following offers the BEST choice?

A. Statement testing and exploratory testing

B. Decision testing and equivalence partitioning

C. Decision testing and decision table testing

D. Boundary value analysis and decision table testing

Answer: D

NEW QUESTION 268
Which of the following would achieve the HIGHEST level of testing independence for a project's test level?

A. Training developers to design good tests for the test team to execute

B. Outsourcing test design and execution to a different company

C. Having the company's independent test team design and execute the tests

D. Minimising contact between testers and developers during test design to avoid bias

Answer: A

NEW QUESTION 273
Which of the following options explain why it is often beneficial to have an independent test function in an organisation?

A. To improve defect finding during reviews and testing

B. To ensure that developers adhere to coding standards
C. To limit communication between developers and testers
D. To provide better metrics for the stakeholders

Answer: D

NEW QUESTION 277
Which of the following options describe the causal chain in the correct sequence?

A. Error, fault, failure

B. Fault, bug, mistake
C. Mistake, failure, fault
D. Failure, bug, error

Answer: A

NEW QUESTION 281

You are examining a document which gives the precise steps needed in order to execute a test. What is the correct definition of this document?
A. Test design specification

B. Test condition

C. Test procedure specification

D. Test case specification

Answer: C

NEW QUESTION 282

Which of the following would you NOT expect to see on an incident report from test execution?

A. The version(s) of the software under test

B. The test execution schedule

C. Expected results and actual results

D. Precise steps to reproduce the problem

Answer: D

NEW QUESTION 285

Which of the following would NOT be a common metric used for monitoring test preparation and execution?
A. Number of Test cases passed and failed

B. Percentage of planned test cases designed

C. Number of test plan review comments

D. Percentage of tasks complete in test environment preparation

Answer: D

NEW QUESTION 286
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NEW QUESTION 1
You are about to release a test progress report to a senior manager, who is not a test specialist. Which of the following topics should NOT be included in the test
progress report? 1 credit

A. Product risks which have been mitigated and those which are outstanding.

B. Recommendations for taking controlling actions

C. Status compared against the started exit criteria

D. Detailed overview of the risk-based test approach being used to ensure the exit criteria to be achieved

Answer: D

NEW QUESTION 2
Which of the following is an example of testing as part of the requirements specification phase? 1 credit

A. A requirements review meeting

B. A business analyst eliciting requirements

C. Performing acceptance tests against requirements
D. A test report showing requirements coverage

Answer: A

NEW QUESTION 3
IEEE 1028 also defines “management review” as a type of review. What is the main purpose of a management review? 1 credit

A. Align technical concepts during the design phase

B. Establish a common understanding of requirements

C. Provide independent evaluation of compliance to processes, regulations, standards etc.

D. To monitor progress, assess the status of a project, and make decisions about future actions

Answer: D

NEW QUESTION 4
Select THREE issues from the options provided that should at least be raised. 1 credit

A. Has there been sufficient comparison of tools?

B. What are the problems we are trying to address?

C. Do we have a set of tool requirements to validate the tool against?
D. How will the implementation be organized?

E. Which project will be selected to perform the tool pilot?

F. Is customized training available?

G. How will the change process be managed?

Answer: ABC

NEW QUESTION 5
Which of the following would be the TWO most appropriate examples of entry criteria documented in the system integration test plan? 2 credits

A. The percentage of decision coverage achieved during unit testing.

B. The availability of the latest version of the capture-replay tool (for testing the interface with the newly developed test management tool).

C. The sign-off of a performance test software release note (test item transmittal report) by both development and testing showing that system performance meets
the specified acceptance criteria.

D. The percentage of acceptance test procedures scheduled for execution.

E. The percentage of requirements coverage achieved during system integration tes

Answer: AB

NEW QUESTION 6
Which of the following would be the most significant input to estimating the time to carry out the specified testing tasks? 3 credits

A. The skills and experience of developers to correct the failures.
B. The standards used for the requirements specification.

C. The metrics recorded from testing the capture-replay tool.

D. The number of testers in the company and their grad

Answer: C

NEW QUESTION 7
Which of the following are valid reasons for adopting a different life cycle (from the V model), for increments after the first year? 2 credits

A. We do not have a clear understanding of the requirements from a customer perspective.i

B. We see the risk of delivering requested functionality late as being higher than the risk of delivering a lower quality product.ii

C. We do not have a budget for additional regression testing which is needed to ensure that existing functionality is not compromised by future iterations.i
D. The company test strategy does not fit well within the V life cycle model.

E. (i) and (ii)

F. (i) and (iv)
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G. (ii) and (iii)
H. (i) and (iv)

Answer: A

NEW QUESTION 8
Which of the following is a project risk mitigation step you might take as test manager? 1 credit

A. Testing for performance problems

B. Hiring a contractor after a test analyst leaves the company

C. Arranging a back-up test environment in case the existing one fails during testing

D. Performing a project retrospective meeting using the test results after each increment

Answer: C

NEW QUESTION 9
Risks should be constantly reviewed. Given the current situation, which one of the following factors is most likely to lead to a revised view of product risk? 3 credits

A. The concerns over the user interface may lead to changes to the interface which cannot be implemented by development in time for the second test iteration.
B. The concerns over the user interface raises the likelihood of a risk in that area and increases the amount of test effort needed for the user interface, thereby
limiting the test effort available for other parts of the test management tool.

C. The delivery of the application without the interface changes may upset the user community.

D. The method used for test estimation is not accurate enough and hence the money spent on testing exceeded its budge

Answer: B

NEW QUESTION 10

You have been asked to write a testing strategy for the company. Which statement best explains how risk can be addressed within the testing strategy? 1 credit
A. A test strategy should address identified generic product risks and present a process for mitigating those risks in line with the testing policy.

B. A test strategy identifies the specific product for a project risk and defines the approach for the test project.

C. A test strategy is derived from the test policy and describes the way risk assessments are performed in projects.

D. A test strategy is the result of a project risk analysis and defines the approach and resources for testin

Answer: A

NEW QUESTION 10

What is the Risk Priority Number for risk item number 2? 2 credits

6

oo
O RN R

Answer: D

NEW QUESTION 15
Which of the following is a benefit of independent testing? 1 credit

A. Code cannot be released into production until independent testing is complete.
B. Testing is isolated from development.

C. Independent testers find different defects and are unbiased.

D. Developers do not have to take as much responsibility for qualit

Answer: C

NEW QUESTION 17

Which of the following is a valid drawback of independent testing? 1 credit

A. Developer and independent testing will overlap and waste resources.

B. Developers loose the sense of responsibility and independent testers may become a bottleneck.
C. Independent testers need extra education and always cost more.

D. Independent testers will become a bottleneck and introduce problems in incident managemen
Answer: B

NEW QUESTION 22

Based on the information given in the scenario, identify how the team could be improved most effectively? 2 credits
A. By providing training in the payroll domain

B. By providing a workshop on test design techniques

C. By providing specific training on the systems being tested

D. By providing training on reviewing requirements

Answer: B

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM CTFL-Foundation Dumps From Exambible
exam blb|@ https://www.exambible.com/CTFL-Foundation-exam/ (338 Q&AS)

NEW QUESTION 25
Evaluate the status of the project against the defined exit criteria. Which of the following options shows the correct status? 2 credits

A. Criteria A = OK, criteria B = OK, criteria C = OK

B. Criteria A = NOT OK, criteria B = NOT OK, criteria C = OK

C. Criteria A = OK, criteria B = NOT OK, criteria C = NOT OK

D. Criteria A = NOT OK, criteria B = NOT OK, criteria C = NOT OK

Answer: B

NEW QUESTION 29
Instead of having an independent test team within the company, the company is considering to outsource testing. What are THREE key challenges that are typical
for outsourcing? 1 credit

A. Test environment more complex

B. Define expectation for tasks and deliverables
C. Clear channels of communications

D. Possibly different cultures

E. Testing of non-functional requirements

F. Audit trail from requirements to test cases

G. Applying test automation

Answer: BCD

NEW QUESTION 34

A test assessment has been carried out using the selected model as a reference framework. A number of recommendations have been identified and you are
asked to prioritize them. Based on your knowledge of the project, you are expecting severe resistance to change. Which of the following would be the most
important selection criterion for defining the priority of the recommendations? 2 credits

A. Synchronized with the overall long-term organizational strategy
B. Defined according to the maturity model used

C. Most visible to stakeholders

D. Low costs actions first

Answer: C

NEW QUESTION 39
The test improvement project will take place in an organization developing a safety-critical avionics application. Which one of the following standards do you
believe would be most appropriate to take into account for compliance during your assignment? 1 credit

A.1SO 9126
B. IEEE 829
C. BS 7925/2
D. DO-178B

Answer: D

NEW QUESTION 41
The business has asked for a weekly progress report. Which of the following would be appropriate as a measure of test coverage? 2 credits

A. Percentage of business requirements exercised
B. Percentage of planned hours worked this week
C. Percentage of countries that have test scenarios
D. Percentage of test iterations completed

Answer: A

NEW QUESTION 46
Continuing with the Scenario described in the previous question, which of the following topics would you need to address in detail in the master test plan? 3 credits

A. An approach to regression testing

B. A list of boundary values for “advance amount”

C. A description of dependencies between test cases
D. A logical collection of test cases

Answer: A

NEW QUESTION 47
Relying only on the information provided in the scenario, select the TWO items and/or features for which sufficient information is available to proceed with test
design. 2 credits

A. All supported credit cards
B. Language localization

C. Valid and invalid advances
D. Usability

E. Response time
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Answer: AC

NEW QUESTION 52

Which of the following could be a reason for a failure?
1) Testing fault

2) Software fault

3) Design fault

4) Environment Fault

5) Documentation Fault

A. 2isavalidreason; 1, 3, 4 & 5 are not
B. 1, 2, 3, 4 are valid reasons; 5 is not

C. 1, 2, 3 are valid reasons; 4 & 5 are not
D. All of them are valid reasons for failure

Answer: A

NEW QUESTION 53
Which of the following statements describes a key principle of software testing?

A. Automated tests allow better statements of confidence about the quality of software products.
B. For a software system, it is normally impossible to test all the input and output combinations.
C. Exhaustive software testing is, with enough effort and tool support, feasible for all software.
D. The purpose of software testing is demonstrating the absence of defects in software product

Answer: B

NEW QUESTION 58
Security falls under..?

A. compliance testing

B. disaster testing

C. verifying compliance to rules
D. functional testing

E. ease of operations

Answer: A

NEW QUESTION 63

A system is designed to accept values of examination marks as follows: Fail: 0—39 inclusive Pass: 40-59 inclusive Merit: 60—79 inclusive
Distinction: 80—100 inclusive

In which of the following sets of values are all values in different equivalence partitions?

5, 40, 60, 75
, 45,79, 87
40, 59, 69

2
0
3
25, 39, 60, 81

A.
B.
C. 35,
D. 25,
Answer: B

NEW QUESTION 66
Which of the following is most likely to be a benefit of using static techniques?

A. Fewer performance defects.

B. Productivity improvements in the development process.
C. More efficient regression testing.

D. Quick return on investment in static analysis tools.

Answer: B

Explanation:

Although the other options might be seen as benefits they are not amongst the most likely benefits. Option (B) is the benefit that is most likely to be realized.
NEW QUESTION 68

A deviation from the specified or expected behavior that is visible to end-users is called:

A. an error

B. a fault

C. afailure

D. a defect

Answer: C

NEW QUESTION 73
What is the concept of introducing a small change to the program and having theeffects of that change show up in some test..?
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A. Introducing mutations
B. Performance testing
C. A mutation error

D. Debugging a program

Answer: A

NEW QUESTION 74
Which of the following defects is most likely to be found by a test harness?

A. Variance from programming standards.
B. A defect in middleware.

C. Memory leaks.

D. Regression defects.

Answer: B

Explanation:

Variance from programming standards defects (option (A)) are found during the review or static testing process.

Therefore a test harness is unlikely to find a defect in programming standards.

Memory leak defects (option (C)) could potentially be found by a test harness designed to run many test cases. Regression defects (option (D)) could be found
using many types of test tool.

Defects in middleware (option (B)) are generally more likely to be found by a test harness or a dynamic analysis tool than by any other type of tool.

NEW QUESTION 79

Which of the following are most characteristic of structure-based testing?

(i) Information about how the software is constructed is used to derive test cases.

(ii) Statement coverage and/or decision coverage can be measured for existing test cases.
(iii) The knowledge and experience of people are used to derive test cases.

(iv) Test cases are derived from a model or specification of the system.

A. (i) and (ii)
B. (ii) and (i)
C. (ii) and (iv)
D. (i) and (iii)

Answer: A

NEW QUESTION 80
Which is not a major task of test implementation and execution?

A. Develop and prioritizing test cases, creating test data, writing test procedures and optionally, preparing test harness and writing automated test scripts.
B. Logging the outcome of test execution and recording the identities and versions of the software under test, test tools and testware.

C. Checking test logs against the exit criteria specified in test planning.

D. Verifying that the test environment has been set up correctl

Answer: C

NEW QUESTION 83
The difference between re-testing and regression testing is:

A. Re-testing is running a test again; regression testing looks for unexpected side effects

B. Re-testing looks for unexpected side effects; regression testing is repeating those tests
C. Re-testing is done after faults are fixed; regression testing is done earlier

D. Re-testing uses different environments, regression testing uses the same environment
E. Re-testing is done by developers, regression testing is done by independent testers

Answer: A

NEW QUESTION 87
For which of the following activities in the fundamental test process would an incident management tool be most useful?

A. Test planning and control

B. Test analysis and design

C. Test implementation and execution
D. Evaluating exit criteria and reporting

Answer: C

Explanation:

Incident management tools are most useful during test implementation and execution as this is the stage at which the tool is used to raise, manage, retest and
close incidents.

The data collected during the defect life cycle can then be manipulated into information that is useful for other activities within the fundamental test process.
Information on numbers of defects outstanding may be useful for evaluating exit criteria (option (D)). This information could also be used for planning future testing
and for taking control (option (A)).

Incident management tools can also assist in test analysis and design (option (B)) as information about defects found when testing the previous release of the
system could be used when analyzing the type of testing required for the next enhancement.
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NEW QUESTION 89
What if the project isn't big enough to justify extensive testing..?

A. Use risk based analysis to find out which areas need to be tested
B. Use automation tool for testing

C.Bothaandb

D. None of the above

Answer: A

NEW QUESTION 90

A software component has the code shown below: Program BiggestA,
Biggest: Integer Begin

Read A Biggest = 10 While A > 0 Do

If A > Biggest Then Biggest = A Endif

Read A Enddo End

The component has exit criteria for component testing that include 100% statement coverage. Which of the following test cases will satisfy this criterion?

NEW QUESTION 95
What is the purpose of exit criteria?

A. To identify how many tests to design.

B. To identify when to start testing.

C. To identify when to stop testing.

D. To identify who will carry out the test executio

Answer: C

NEW QUESTION 96
Incorrect form of Logic coverage is:

A. Statement Coverage
B. Pole Coverage
C. Condition Coverage
D. Path Coverage

Answer: B

NEW QUESTION 97
Which of the following is the task of a Tester?

A. Interaction with the Test Tool Vendor to identify best ways to leverage test tool on the project.i
B. Prepare and acquire Test Dataii

C. Implement Tests on all test levels, execute and log the tests.i

D. Create the Test Specifications

E. i, ii, iii is true and iv is false
F. ii, iii, iv is true and i is false
G. iis true and ii, iii, iv are false

H. iii and iv is correct and i and ii are Incorrect
Answer: B

NEW QUESTION 101

Which of these are objectives for software testing?

A. Determine the productivity of programmers

B. Eliminate the need for future program maintenance
C. Eliminate every error prior to release

D. Uncover software errors

Answer: D

NEW QUESTION 105

Which of the following is most likely to be performed by developers?
A. Technical review of a functional specification.

B. Walkthrough of a requirements document.

C. Informal review of a program specification.

D. Static analysis of a software mode

Answer:
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D

Explanation:
Static analysis is done almost exclusively by developers. The other review types would be performed using a combination of developers, testers and other
interested stakeholders.

NEW QUESTION 109
The selection of test cases for regression testing..?

A. Requires knowledge on the bug fixes and how it affect the system
B. Includes the area of frequent defects

C. Includes the area which has undergone many/recent code changes
D. All of the above

Answer: D

NEW QUESTION 113
What if the project isn't big enough to justify extensive testing..?

A. Use automation tool for testing

B. Use risk based analysis to find out which areas need to be tested
C.Bothaandb

D. None of the above

Answer: B

NEW QUESTION 116
Who is responsible for conducting test readiness review..?

A. Project Manager
B. Test Engineer

C. Test Manager

D. None of the above

Answer: C

NEW QUESTION 117
Which of the following is not true of regression testing?

A. It can be carried out at each stage of the life cycle.

B. It serves to demonstrate that the changed software works as intended.

C. It serves to demonstrate that software has not been unintentionally changed.
D. It is often automated.

Answer: B

Explanation:
This is a definition of confirmation testing. The other three options are true of regression testing.

NEW QUESTION 118

Which of the following statements are true?

(i) For every development activity there is a corresponding testing activity.

(ii) Each test level has the same test objectives.

(iii) The analysis and design of tests for a given test level should begin after the corresponding development activity. (iv)Testers should be involved in reviewing
documents as soon as drafts are available in the development life cycle.

A. (i) and (ii)
B. (iii) and (iv)
C. (ii) and (jii)
D. (i) and (iv)

Answer: D

Explanation:
Option (ii) is incorrect: each test level has a different objective.
Option (iii) is also incorrect: test analysis and design should start once the documentation has been completed.

NEW QUESTION 120
Which of the following are the typical defects found by static analysis tools?

A. Variables that are never used.

B. Security vulnerabilities.

C. Poor performance.

D. Unreachable code.

E. Business processes not followed.

F. b, c and d are true; a and e are false
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G. ais true; b, ¢, d and e are false
H. ¢, d and e are true; a and b are false
I.a, b and d are true; c and e are false

Answer: D

NEW QUESTION 121
Which of the following is NOT part of configuration management..?

A. Status accounting of configuration items

B. Auditing conformance to ISO9001

C. Identification of test versions

D. Record of changes to documentation over time
E. Controlled library access

Answer: B

NEW QUESTION 126
For which of the following would maintenance testing be used?

A. Correction of defects during the development phase.

B. Planned enhancements to an existing operational system.

C. Complaints about system quality during user acceptance testing.
D. Integrating functions during the development of a new syste

Answer: B

NEW QUESTION 130
Which is not in sequence in 11 Step Software Testing process..?

A. Assess development plan and status
B. Develop the test plan

C. Test software design

D. Test software requirement

Answer: C

NEW QUESTION 133
One of the roles in a review is that of moderator, which of the following best describes this role?

A. Plans the review, runs the review meeting and ensures that follow-up activities are completed.

B. Allocates time in the plan, decides which reviews will take place and that the benefits are delivered.

C. Writes the document to be reviewed, agrees that the document can be reviewed, and updates the document with any changes.
D. Documents all issues raised in the review meeting, records problems and open point

Answer: A

NEW QUESTION 136

Which of the following is true of iterative development?

A. It uses fully defined specifications from the start.

B. It involves the users in the testing throughout.

C. Changes to the system do not need to be formally recorded.

D. It is not suitable for developing website

Answer: B

NEW QUESTION 138

When is testing complete?

A. When time and budget are exhausted.

B. When there is enough information for sponsors to make an informed decision about release.
C. When there are no remaining high priority defects outstanding.

D. When every data combination has been exercised successfully.

Answer: B

Explanation:

Sometimes time/money does signify the end of testing, but it is really complete when everything that was set out in advance has been achieved.
NEW QUESTION 141

Which of the following is not a type of incremental testing approach?

A. Top down
B. Big-bang
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C. Bottom up
D. Functional incrementatio

Answer: B

NEW QUESTION 146
A bug or defect is:

A. A mistake made by a person;

B. A run-time problem experienced by a user;

C. The result of an error or mistake;

D. The result of a failure, which may lead to an error?

Answer: C

NEW QUESTION 150
Pick the best definition of quality:

A. Quality is job one

B. Zero defects

C. Conformance to requirements
D. Work as designed

Answer: C

NEW QUESTION 153
Which is not the fundamental test process?

A. Planning and control
B. Test closure activities
C. Analysis and design
D. None

Answer: D

NEW QUESTION 157

One Key reason why developers have difficulty testing their own work is:
A. Lack of technical documentation

B. Lack of test tools on the market for developers

C. Lack of training

D. Lack of Obijectivity

Answer: C

NEW QUESTION 161

Complete statement and branch coverage means..?

A. That you have tested every statement in the program

B. That you have tested every statement and every branch in the program
C. That you have tested every IF statement in the program

D. That you have tested every combination of values of IF statements in the program

Answer: B

NEW QUESTION 166

When a defect is detected and fixed then the software should be retested to confirm that the original defect has been successfully removed. This is called:

A. Regression testing
B. Maintenance testing
C. Confirmation testing
D. None of the above

Answer: C

NEW QUESTION 170

What do static analysis tools analyze?
A. Design

B. Test cases

C. Requirements

D. Program code

Answer: D

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM CTFL-Foundation Dumps From Exambible
exam blb|@ https://www.exambible.com/CTFL-Foundation-exam/ (338 Q&AS)

NEW QUESTION 172
The purpose of requirement phase is:

A. To freeze requirements

B. To understand user needs

C. To define the scope of testing
D. All of the above

Answer: D

NEW QUESTION 175
Incidents would not be raised against

A. Requirements

B. Documentation

C. Test cases

D. Improvements suggested by users

Answer: D

NEW QUESTION 176
To test a function, the programmer has to write a , which calls the function to be tested and passes it test data:

A. Stub

B. Driver

C. Proxy

D. None of the above

Answer: B

NEW QUESTION 177
Which of the following statements about risks is most accurate?

A. Project risks rarely affect product risk.
B. Product risks rarely affect project risk.
C. Arisk-based approach is more likely to be used to mitigate product rather than project risks.
D. A risk-based approach is more likely to be used to mitigate project rather than product risks.

Answer: C

Explanation:

In general, project risk and product risk can be hard to differentiate. Anything that impacts on the quality of the delivered system is likely to lead to delays or
increased costs as the problem is tackled. Anything causing delays to the project is likely to threaten the delivered system's quality. The risk-based approach is an
approach to managing product risk through testing, so it impacts most directly on product risk.

NEW QUESTION 181
What is a test condition?

A. A statement of test objectives and test ideas on how to test.

B. An item or event that could be verified by one or more test cases.

C. The process of identifying differences between the actual results and the expected results for a test.
D. All documents from which the requirements of a component or system can be inferre

Answer: B

NEW QUESTION 184

Which of the following is a valid reason for writing test cases based on experience and intuition? [K1]
A. Use of formal techniques requires expensive training

B. Only experience can ensure all functionality is covered

C. Tests based on experience and intuition can supplement formal techniques
D. Formal techniques require the use of expensive tools

Answer: C

NEW QUESTION 189

Which of the following are 'Exit Criteria?'

A. Acceptance criteria, completion criteria, pass/fail criteria.

B. Coverage of code, schedule, estimates of defect density.

C. The last executable statement within a component.

D. Cost overrun

Answer: B
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NEW QUESTION 194
Which of the following test case design techniques is white box (structure-based)? [K1]

A. Use case testing

B. State transition testing
C. Decision testing

D. Equivalence partitioning

Answer: C

NEW QUESTION 197
Which of the following correctly states a limitation in the use of static analysis tools? [K1]

A. Static analysis tools can be applied to new code but cannot be applied to existing code

B. Static analysis tools can be used to enforce coding standards

C. Static analysis tools always generate large numbers of warning messages when applied to new code, even if the code meets coding standards
D. Static analysis tools do not generate warning messages when applied to existing code

Answer: B

NEW QUESTION 202

A system calculates the amount of customs duty to be paid:

_ No duty is paid on goods value up to, and including, $2,000. _ The next $8,000 is taxed at 10%.

_ The next $20,000 after that is taxed at 12%.

__Any further amount after that is taxed at 17%.

To the nearest $, which of these groups of numbers fall into three DIFFERENT equivalence classes?

A. $20,000 $20,001 $30,001
B. $2,000 $2,001 $10,000
C. $2,000 $8,000 $20,000
D. $1,500 $2,000 $10,000

Answer: C

NEW QUESTION 206
System testing is:

A. Used to search for defects in software modules that are separately testable.

B. The responsibility of the users of a system.

C. Concerned with the behavior of a whole system/product as defined by the scope of a development project.
D. Triggered by modifications, migration or retirement of the software syste

Answer: C

NEW QUESTION 208
Which of the following is a white box testing design characteristic?

A. To be based on specifications

B. To be based on an analysis of the test basis documentation

C. To be based on an analysis of the structure of the component or system
D. To include both functional and non-functional testing

Answer: C

NEW QUESTION 212
Which of the following metrics could be used to monitor progress along with test preparation and execution? [K1]

A. The total number of tests planned

B. The total number of requirements to be tested

C. The failure rate in testing already completed

D. The number of testers used for test execution so far

Answer: C

NEW QUESTION 213
Test objectives for systems testing of a safety critical system include completion of all outstanding defect correction. Regression testing is required following defect
correction at all test levels. Which TWO of the following metrics would be MOST suitable for determining whether the test objective has been met? [K2]

A. Regression tests run and passed in systems testing
B. Incidents closed in systems testing

C. Planned tests run and passed in system testing

D. Planned tests run and passed at all levels of testing
E. Incidents raised and closed at all levels of testing
F.aande

G.bandc

H.dand e

l.aand b
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Answer: A

NEW QUESTION 215

What factors should be considered to determine whether enough testing has been performed? (i)The exit criteria. (ii))The budget.
(iiffHow big the test team is. (iv)The product's risk profile. (v)How good the testing tools are.

(vi)Sufficient details of the system status to allow decisions

A.iandii and iv and vi
B. i and ii and iii and vi
C.iiand iiiand ivand v
D.iandii and v and vi

Answer: A

NEW QUESTION 218
Which of the following statements is most true about test conditions?

A. An item or event of a component or system that can be verified by one or more test cases.

B. The grouping of a composite set of test cases which, when tested as a whole, reveal a positive or negative result.
C. A testable component derived from business requirements.

D. Applies to software testing onl

Answer: A

NEW QUESTION 221
Component testing may include:

A. Sociability testing.

B. User acceptance testing.

C. Beta testing.

D. The use of stubs and driver

Answer: D

NEW QUESTION 223
What can testing demonstrate?

A. Testing can demonstrate that there are no defects

B. Testing can demonstrate that there are defects

C. Testing can demonstrate that the software is correct

D. Testing can demonstrate that there are no hidden defects in the software

Answer: B

NEW QUESTION 227
When should testers be involved in reviewing a UAT specification? [K1]

A. At the beginning of the project

B. As soon as requirements have been approved

C. As soon as the UAT specification has been drafted
D. At any time before UAT begins

Answer: C

NEW QUESTION 230

Which type of review has the following main purposes:

discussing, making decisions, evaluating alternatives, finding defects, solving technical problems and checking conformance to specifications, plans, regulations,
and standards?

A. Technical Review
B. Inspection

C. Walkthrough

D. Informal review

Answer: A

NEW QUESTION 234

What are metrics NOT used for?

A. To identify the percentage of work done in test environment preparation.
B. To identify the percentage of work done in test case preparation.

C. To apply to the RAD development model.

D. To measure whether dates of test milestones were me

Answer: C
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NEW QUESTION 239
Which of the following test organizations has the highest level of independence?

A. Independent testers within the development teams

B. Independent testers from the user community

C. Independent test specialists for specific test types, such as usability, performance or certification test specialists
D. Code tested by another developer from the development team

Answer: C

NEW QUESTION 243

Consider the following pseudo code:

. Begin

.Input X, Y

JdfX>Y

. Print (X, ‘is greater than’, Y)

. Else

. Print (Y, is greater than or equal to’, X)
. EndIf

. End

What is the minimum number of test cases required to guarantee both 100% statement coverage and 100% decision coverage?

O~NOOTh~WDNE

A. Statement coverage = 3, Decision coverage = 3
B. Statement coverage = 2, Decision coverage = 2
C. Statement coverage = 1, Decision coverage = 2
D. Statement coverage = 2, Decision coverage = 1

Answer: B

NEW QUESTION 244
It is recommended to perform exhaustive tests for covering all combinations of inputs and preconditions.

A. Yes, it's strongly recommended.

B. No, risk analysis and priorities should be used to focus testing efforts
C. Yes, and it’s also necessary to include all the exit combinations

D. Only the expert testers can make exhaustive test

Answer: B

NEW QUESTION 248
Which option BEST describes how the level of risk is determined?

A. The likelihood of an adverse event happening multiplied by the cost of preventing it

B. The consequences of a potential problem multiplied by the cost of possible legal action
C. The impact of an adverse event multiplied by the likelihood of that event occurring

D. The likelihood and the probability of a hazard occurring

Answer: B

NEW QUESTION 253
A system is being enhanced to simplify screen navigation for users. Which of the following does NOT reflect structural testing?

A. To test all paths that users could take through the screen menu system

B. To ensure that 100% decision testing is achieved for each system component
C. To test all branches of component calls within the application call graph

D. To ensure that users can navigate to all fields on the screen

Answer: C

NEW QUESTION 257
Which of the following is NOT a valid objective of testing?

A. Preventing defects from being introduced into the code
B. Investigating and fixing defects in the software under test
C. Gaining confidence that the system is fit-for-purpose

D. Providing information for stakeholders’ decision making

Answer: D

NEW QUESTION 259

During which stage of the fundamental test process is the testability of requirements evaluated?
A. Test Implementation and Execution

B. Test Planning and Control

C. Evaluating Exit Criteria and Reporting
D. Test Analysis and Design
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Answer: D

NEW QUESTION 264
Your company is developing a system with complex business rules and many branches in the structure of its code components. You need to choose one black box
technigue and one white box technique for test case design. Which one of the following offers the BEST choice?

A. Statement testing and exploratory testing

B. Decision testing and equivalence partitioning

C. Decision testing and decision table testing

D. Boundary value analysis and decision table testing

Answer: D

NEW QUESTION 268
Which of the following would achieve the HIGHEST level of testing independence for a project's test level?

A. Training developers to design good tests for the test team to execute

B. Outsourcing test design and execution to a different company

C. Having the company's independent test team design and execute the tests

D. Minimising contact between testers and developers during test design to avoid bias

Answer: A

NEW QUESTION 273
Which of the following options explain why it is often beneficial to have an independent test function in an organisation?

A. To improve defect finding during reviews and testing

B. To ensure that developers adhere to coding standards
C. To limit communication between developers and testers
D. To provide better metrics for the stakeholders

Answer: D

NEW QUESTION 277
Which of the following options describe the causal chain in the correct sequence?

A. Error, fault, failure

B. Fault, bug, mistake
C. Mistake, failure, fault
D. Failure, bug, error

Answer: A

NEW QUESTION 281

You are examining a document which gives the precise steps needed in order to execute a test. What is the correct definition of this document?
A. Test design specification

B. Test condition

C. Test procedure specification

D. Test case specification

Answer: C

NEW QUESTION 282

Which of the following would you NOT expect to see on an incident report from test execution?

A. The version(s) of the software under test

B. The test execution schedule

C. Expected results and actual results

D. Precise steps to reproduce the problem

Answer: D

NEW QUESTION 285

Which of the following would NOT be a common metric used for monitoring test preparation and execution?
A. Number of Test cases passed and failed

B. Percentage of planned test cases designed

C. Number of test plan review comments

D. Percentage of tasks complete in test environment preparation

Answer: D

NEW QUESTION 286
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